

# Schedule for U. G. 2<sup>nd</sup> Semester Examinations, 2025 (Under FYUGP)[OLD 2023-2024]

Date	Session	Time	B.A.	B.Sc. / B.Com. / BBA / BCA / BBA (TAH)			
25.06.2025 (WED)	1 <sup>st</sup>	10:30 a.m. to 12:30 p.m. / 01:00 p.m.	MAJOR – 2 Bengali, English, Hindi, Nepali, Physical Education, Psychology, Sanskrit, Urdu	MAJOR-2 (Botany, Chemistry, Mathematics, Microbiology, Statistics, Physiology, Zoology, Physics, Computer Science, BCA, Marketing Management[BBA])			
	2 <sup>nd</sup>	02:00 p.m. to04:00 p.m. / 04:30 p.m.	MAJOR – 2  Education, History, Mass Communication & Journalism, Philosophy, Political Science, Sociology, [Economics & Geography (B.A. / B.Sc.)]	MAJOR-2 (Management Principles and Applications[B.COM.], Customer Service and Passenger Handling[BBA(TAH)])			
28.06.2025	1 <sup>st</sup>	10:30 a.m. to 12:30 p.m. / 01:00 p.m.	MINOR – 2 Bengali, English, Hindi, Nepali, Physical Education, Psychology, Sanskrit, Urdu, Modern Tibetan	MINOR-2 (Botany, Chemistry, Mathematics, Microbiology, Statistics, Physiology, Zoology, Physics, Computer Science, Food Technology, Business Statistics [BBA])			
(SAT)	2 <sup>nd</sup>	02:00 p.m. to 04:00 p.m./04:30 p.m.	MINOR – 2 Education, History, Mass Communication & Journalism, Philosophy, Political Science, Sociology, NCC, [Economics & Geography (B.A. / B.Sc.)]	MINOR-2 (Business Statistics –I[B.COM.], Front Office OperationsBBA(TAH)])			
01.07.2025	1 <sup>st</sup>	10:30 a.m. to 01:00 p.m.	MDC – 2  ocal Language and Folk Culture, Understanding Shakespeare and Tagore, Strategic Studies and National Security, Introduction to Polymers, Conservation Biology, Human Resources Management, Web Technology, Software Development, Sustainable Development, Graphic Novels, Disaster Management				
(TUE)	2 <sup>nd</sup>	02:00 p.m. to 04:30 p.m.	MDC – 2  Media Science, Introduction to Linear Programming, Introduction to Astronomy, Ergonomics and Sports Medicine, International Relations, Sociology of Development, Tourism and Travel Management, Education of Children with Special Needs, Mental Health and Hygiene, Literature of Eastern Himalayas				
03.07.2025 (THU)	1 <sup>st</sup>	10:30 a.m. to 12:30 p.m.	SEC – Ž Bengali, English, Hindi, Nepali, Psychology, Sanskrit, Urdu	SEC – 2 (Botany, Chemistry, Mathematics, Microbiology, Statistics, Physiology, Zoology, Physics, Computer Science, BCA, Entrepreneurship Development [BBA])			
	2 <sup>nd</sup>	02:00 p.m. to 04:00 p.m.	SEC – 2  Education, History, Mass Communication & Journalism, Philosophy, Political Science, Sociology, [Economics & Geography (B.A. / B.Sc.)]	SEC – 2 (Modern Office Management[B.COM.], Principles of Management [BBA(TAH)])			
05.07.2025 (SAT)	1 <sup>st</sup>	10:30 a.m. to 12:00 p.m.	AEC – 2 (MIL)				
	2 <sup>nd</sup>	02:00 p.m. to 03:30 p.m.		AEC – 2 (Compulsory English)			
08.07.2025 (TUE)	1 <sup>st</sup>	10:30 a.m. to 12:00 p.m.	VAC – 2 (Understanding India / Digital Marketing)	ě. '			
	2 <sup>nd</sup>	02:00 p.m. to 04:30 p.m.	47	VAC – 1 (Environmental Education)			

N.B.: The dates of this schedule may include future modifications/alternations to accommodate unavoidable exigencies, if any Place: Raja Rammohunpur Date: 21.05.2025



# Schedule for U. G. 4th Semester Examinations, 2025 (Under FYUGP)[OLD 2023-2024]

Date	Session	Time	B.A.	B.Sc. / B.Com. / BBA / BCA / BBA (TAH)		
24.06.2025	1 <sup>st</sup>	10:30 a.m. to 12:30 p.m. / 01:00 p.m.	MAJOR – 6 Bengali, English, Hindi, Nepali, Physical Education, Psychology, Sanskrit, Urdu	MAJOR – 6 (Botany, Chemistry, Computer Science, Mathematics, Microbiology, Statistics, Physiology, Zoology, Physics, Geology, Tea Science, BCA)		
(TUE)	2 <sup>nd</sup>	02:00 p.m. to04:00 p.m. / 04:30 p.m.	MAJOR – 6 Education, History, Mass Communication & Journalism, Philosophy, Political Science, Sociology, [Economics & Geography (B.A. / B.Sc.)]	MAJOR – 6 (Income Tax Law and Practices, Cost & Management Accounting[BBA], Food and Beverage Service Operations)		
26.06.2025	1 <sup>st</sup>	10:30 a.m. to 12:30 p.m. / 01:00 p.m.	MAJOR – 7 Bengali, English, Hindi, Nepali, Physical Education, Psychology, Sanskrit, Urdu	MAJOR – 7 (Botany, Chemistry, Computer Science, Mathematics, Microbiology, Statistics, Physiology, Zoology, Physics, Geology, Tea Science, BCA)		
(THU)	2 <sup>nd</sup>	02:00 p.m. to04:00 p.m. / 04:30 p.m.	MAJOR – 7  Education, History, Mass Communication & Journalism, Philosophy, Political Science, Sociology, [Economics & Geography (B.A. / B.Sc.)]	MAJOR – 7 (Indian Financial System. Business Regulatory Framework[BBA], Tourism Management)		
30.06.2025	1 <sup>st</sup>	10:30 a.m. to 12:30 p.m. / 01:00 p.m.	MAJOR – 8 Bengali, English, Hindi, Nepali, Physical Education, Psychology, Sanskrit, Urdu	MAJOR – 8 (Botany, Chemistry, Computer Science, Mathematics, Microbiology, Statistics, Physiology, Zoology, Physics, Geology, Tea Science, BCA)		
(MON)	2 <sup>nd</sup>	02:00 p.m. to04:00 p.m. / 04:30 p.m.	MAJOR – 8 Education, History, Mass Communication & Journalism, Philosophy, Political Science, Sociology, [Economics & Geography (B.A. / B.Sc.)]	MAJOR – 8 (Costing for Managers, [Cost Accounting-I / Costing for Managers], Income Tax Law and Practice[BBA], Entrepreneurship Development)		
02.07.2025	1 <sup>st</sup>	10:30 a.m. to 12:30 p.m. / 01:00 p.m.	MINOR – 4 Bengali, English, Hindi, Nepali, Physical Education, Psychology, Sanskrit, Urdu, Modern Tibetan	MINOR – 4 (Botany, Chemistry, Computer Science, Mathematics, Microbiology, Statistics, Physiology, Zoology, Physics, Geology, Food Technology)		
(WED)	2 <sup>nd</sup>	02:00 p.m. to 04:00 p.m./04:30 p.m.	MINOR – 4 Education, History, Mass Communication & Journalism, Philosophy, Political Science, Sociology, [Economics & Geography (B.A. / B.Sc.)], NCC	MINOR – 4 (Business Statistics –II, Managerial Economics[BBA], Business Economics)		
04.07.2025 (FRI)	1 <sup>st</sup>	10:30 a.m. to 01:00 p.m.	MDC – 3  Pharmacognosy and Medicinal Plants, Basic Programming, Bio Entrepreneurship, Business Regulations, Cognitive Science, Constitutional Law, E-commerce Environmental Microbiology, Global Environment and Health, Green Chemistry, Guidance and Counselling			
	2 <sup>nd</sup>	02:00 p.m. to 04:30 p.m.	MDC – 3  ICT Fundamentals, Introduction to Cosmic Ray Physics, Mathematical Economics, Nutrition and Diet, Political Economy and Development, Postcolonial Literature Public Administration, Rural Studies, Social Work, Development Studies of Indian Economy			
07.07.2025 (MON)	1 <sup>st</sup>	10:30 a.m. to 12:00 p.m.	AEC – 2 (MIL)	* 1		
	2 <sup>nd</sup>	02:00 p.m. to 03:30 p.m.	•	AEC – 2 (Compulsory English)		

N.B.: The dates of this schedule may include future modifications/alternations to accommodate unavoidable exigencies, if any.

Place: Raja Rammohunpur

Date: 21.05.2025



# Schedule for U. G. 2<sup>nd</sup> Semester Examinations, 2025 (Under FYUGP) [NEW 2024-2025]

Date	Session	Time	B.A./B.Sc. / BCA	B.COM.	BBA	BBA(TAH)		
25.06.2025 (WED)	1 <sup>st</sup>	10:30 a.m. to 01:00 p.m.	MAJOR – 3  (Bengali, English, Hindi, Nepali, Sanskrit, Urdu, Education, History, Political Science, Philosophy, Sociology, Mass Communication & Journalism, Psychology, [Economics & Geography (B.A. / B.Sc.)], Botany, Chemistry, Physiology, Mathematics, Computer Science, Geology, Microbiology, Physics, Zoology, Tea Science, BCA.)	MAJOR- 3 (ACFIMAJ203/BMNGMAJ203) Business Mathematics - 1	MAJOR-3 Marketing Management			
	2 <sup>nd</sup>	02:00 p.m. to 04:30 p.m.	DSC (Multi Disciplinary Courses) / MINOR – 2 [Combination- A] Bengali, English, Nepali, Hindi, Sanskrit, Urdu, Economics, Chemistry, Computer Science	DSC – A -2 (COMDSCA202) (BUSINESS MATHEMATICS-I)		DSC – A, 2 (Customer Service and Passenger Handling)		
28.06.2025 (SAT)	1 <sup>st</sup>	10:30 a.m. to 01:00 p.m.	MAJOR – 4  (Bengali, English, Hindi, Nepali, Sanskrit, Urdu, Education, History, Political Science, Philosophy, Sociology, Mass Communication & Journalism, Psychology, [Economics & Geography (B.A. / B.Sc.)], Botany, Chemistry, Physiology, Mathematics, Computer Science, Microbiology, Physics, Zoology, Tea Science, BCA.)	MAJOR- 4 (ACFIMAJ204/BMNGMAJ204) Company Law	MAJOR-4 Business Statistics			
(6/11)	2 <sup>nd</sup>	02:00 p.m. to 04:30 p.m.	DSC (Multi Disciplinary Courses) / MINOR – 2 [Combination-B] Geography, Education, Political Science, Mass Communication & Journalism, Psychology, Physics, Physiology, Microbiology	DSC -B -2 (COMDSCB202) (COMPANY LAW)		DSC – B, 2 (Front Office Operations)		
01.07.2025	1 <sup>st</sup>	10:30 a.m. to 01:00 p.m.	DSC (Multi Disciplinary Courses) / MINOR – 2 [Combination- C] History, Sociology, Philosophy, Physical Education, Tibetan, Mathematics, Botany	MINOR-2 (ACFIMIN202/BMNGMIN202) Business Communication	MINOR-2 E-Commerce			
(TUE)	2 <sup>nd</sup>	02:00 p.m. to 04:30 p.m.	DSC (Multi Disciplinary Courses) / MINOR – 2 [Combination- D] Geology, Statistics, Zoology	MINOR- 2 (COMDMIN202) (Business Communication)		MINOR – 2 (Principles of Management)		
03.07.2025	1 <sup>st</sup>	10:30 a.m. to 12:30 p.m.	SEC – 2  Editing and Publishing in Bengali, Proof Reading in English, Media SamagriNirman, Nepali ChalchitraAdhayan, Cyber Security, HTML Programming, Digital Marketing					
(THU)	2 <sup>nd</sup>	02:00 p.m. to 04:00 p.m.	SEC – 2  RFID and Library Automation, Developing Teaching Skills, Studying the Architecture and Artefacts of North Bengal, Financial Literacy and Banking, Type Setting in LATEX,  Maternal and Child Nutrition, Horticulture					
05.07.2025	1 <sup>st</sup>	10:30 a.m. to 01.00 p.m.	AEC – 1 [For Single Major/Single Minor Courses students]  Compulsory English					
(SAT)	2 <sup>nd</sup>	02:00 p.m. to 04:30 p.m.	AEC – 1 [For Three Discipline Specific Multidisciplinary Courses students]  MIL (Bengali / Nepali / Hindi / Urdu / Sanskrit / Alternative English)					
08.07.2025 (TUE)	1 <sup>st</sup>	10:30 a.m. to 11.30 a.m./ 12:00 p.m.	IDC – 1 [For Single Major/Single Minor Courses & Three Discipline Specific Multidisciplinary Courses students] Chemistry in Daily Life, Conservation Biology, Basic Microbiology, Mathematics in Daily Life, Climatology, Basics of Economics, Public Administration					
	2 <sup>nd</sup>	02:00 p.m. to 03:00p.m. / 03:30 p.m.	IDC – 1 [For Single Major/Single Minor Courses & Three Discipline Specific Multidisciplinary Courses students]  Behavioral Science, Great Indian Educators, Social Work, Fundamentals of ICT, Basics of Accounting, NCC Organization, National Integration, Personality Development Leadership					

N.B.: The dates of this schedule may include future modifications/alternations to accommodate unavoidable exigencies if any.

Place: Raja Rammohunpur

Date: 21.05.2025



Schedule for U. G. 2nd Semester Examination, 2025 (Under CBCS)

[Geography: Modified & Old, Bengali: New 2020 & Old 2018, Mathematics: Revised 2023 & Old 2018, Education: New & Old, Chemistry: New & Old, Commerce: New & Old]

Date	Session	Time	Honours Program for B.A./ B.Sc./B.Com./B.B.A./ B.C.A./B.S.W.	B.A. Program	B.Sc. Program	B.Com./BBA (in Tourism, Aviation & Hospitality) Program	B.VOC (Retail Management/Tourism Hospitality Management) Program
12.06.2025	1st	10.30 a.m. to 12.30 p.m.		DSC-1/2 (Paper-2) (Group - A)	DSC-1/2/3 (Paper-2) (Basket-1)	DSC (Paper-3)	DSC 2.2
(THU)	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.	CC (Paper-3)				
14.06.2025	1st	10.30 a.m. to 12.30 p.m.	-	DSC-1/2 (Paper-2) (Group -B)	DSC-1/2/3 (Paper-2) (Basket-2)	DSC (Paper-4)	DSC 2.3
(SAT)	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.	CC (Paper-4)				
17.06.2025	1st	10.30 a.m. to 12.30 p.m.		DSC-1/2 (Paper-2) (Group - C)	DSC-1/2/3 (Paper-2) (Basket-3)		DSC 2.4
(TUE)	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.	GE-1 (Paper-2)				
21.06.2025	1 <sup>st</sup>	10.30 a.m. to 12.30 p.m.		LCC-2 (English Paper-1)	DSC-1/2/3 (Paper-2) (Basket-4)	LCC-2 (English Paper-1)	SEC-1 (Paper-1) [2.1]
(SAT)	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.	AECC-2	AECC-2	AECC-2	AECC-2	AECC-2

N.B.: Students of B.A. & B.Sc. (Hons.) in Economics shall appear their Hons. Papers with B.A. Hons. Students.
Students of B.A. & B.Sc. (Hons.) in Geography shall appear their Hons. Papers with B.Sc. Hons. Students.
The dates of this schedule may include future modifications/alternations to accommodate unavoidable exigencies, if any.
Place: Raja Rammohunpur
Date: 21.05.2025

Principal Sukanta Mahavidyalaya Dhupguri, Jalpaiguri

Accredited by NAAC with Grade B++



Schedule for U. G. 4th Semester Examination, 2025 (Under CBCS)
[Geography: Modified & Old, Bengali: New 2020 & Old 2018, Mathematics: Revised 2023 & Old 2018, Education: New & Old, Chemistry: New & Old, Commerce: New & Old]

Date	Session	Time	Honours Program for B.A.	B.A. Program	Honours Program for B.Sc./B.Com./B.B.A./ B.C.A./B.S.W.	B.Sc. Program	B.Com./BBA (in Tourism, Aviation &Hosptality) Program	B.VOC (Retail Management/Tourism Hospitality Management) Program
12.06.2025	1st	10.30 a.m. to 12.30 p.m.	CC (Paper-8)		CC (Paper-8)			
(THU)	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.		DSC-1/2 (Paper-4) (Group - A)		DSC-1/2/3 (Paper-4) (Basket-1)	DSC (Paper-7)	DSC 4.1
14.06.2025	1st	10.30 a.m. to 12.30 p.m.	CC (Paper-9)		CC (Paper-9)	•	-	-
(SAT)	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.	-	DSC-1/2 (Paper-4) (Group -B)		DSC-1/2/3 (Paper-4) (Basket-2)	DSC (Paper-8)	DSC 4.2
17.06.2025	1st	10.30 a.m. to 12,30 p.m.	CC (Paper-10)		CC (Paper-10)	•		
(TUE)	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.		DSC-1/2 (Paper-4) (Group - C)		DSC-1/2/3 (Paper-4) (Basket-3)		DSC 4.3 [THM] DSE 4.3 [RM]
19.06.2025	1st	10.30 a.m. to 12.30 p.m.	GE-2 (Paper-2)		GE-2 (Paper-2)			-
(THU)	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.	-	SEC-1 (Paper-2)		SEC-1 (Paper-2)	SEC-1 (Paper-2)	DSC 4.4 [RM] DSE 4.4 [THM]
23.06.2025 (MON)	1st	10.30 a.m. to 12.30 p.m.	SEC (Paper-2)		SEC (Paper-2)			
	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.		LCC-2 (English Paper-2)	7 - 1 - 1	DSC-1/2/3 (Paper-4) (Basket-4)	LCC-2 (English Paper-2)	

N.B.: Students of B.A. & B.Sc. (Hons.) in Economics shall appear their Hons. Papers with B.A. Hons. Students. Students of B.A. & B.Sc. (Hons.) in Geography shall appear their Hons. Papers with B.Sc. Hons. Students.

The dates of this schedule may include future modifications/alternations to accommodate unavoidable exigencies, if any.

Place: Raja Rammohunpur Date: 21.05.2025

Accredited by NAAC with Grade B++



Schedule for U. G. 6th Semester Examination, 2025 (Under CBCS) [Bengali: New 2020 & Old 2018, Geography: Moified& Old]

Date	Session	Time	Honours Program for B.A.	B.A. Program	Honours Program for B.Sc./B.Com./B.B.A. /B.C.A. /B.S.W.	B.Sc. Program	B.Com./BBA (in Tourism, Aviation & Hospitality) Program	B.VOC. (Retail Management/Tourism Hospitality Management) Program
11.06.2025 (WED)	1st	10.30 a.m. to 12.30 p.m.	CC (Paper-13)		CC (Paper-13)	•		
	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.		DSE-1/2 (Paper-2) (Group - A)		DSE-1/2/3 (Paper-2) (Basket-1)	DSE-3	DSE 6.1
13.06.2025 (FRI)	1st	10.30 a.m. to 12.30 p.m.	CC (Paper-14)		CC (Paper-14)	•	8	
	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.		DSE-1/2 (Paper-2) (Group - B) -	•	DSE-1/2/3 (Paper-2) (Basket-2)	DSE-4	DSE 6.2
16.06.2025 (MON)	1st	10.30 a.m. to 12.30 p.m.	DSE-3		DSE (FC/MC/HC)			
	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.		DSE-1/2 (Paper-2) (Group - C)		DSE-1/2/3 (Paper-2) (Basket-3)		
18.06.2025 (WED)	1st	10.30 a.m. to 12.30 p.m.	DSE-4		DSE-3 & DSE (FA/MA/HA		GE-2	GE-1 (Paper-2) [6.3]
	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.		GE-1 (Paper-2)	÷	DSE-1/2/3 (Paper-2) (Basket-4)		(*)
20.06.2025 - (FRI)	1st	10.30 a.m. to 12.30 p.m.			DSE-4 & DSE (FB/MB/HB)		SEC-4	SEC-2 (Paper-2) [6.4]
	2 <sup>nd</sup>	2.00 p.m. to 4.00 p.m.		SEC-2 (Paper-2)		SEC-2 (Paper-2)		

N.B.: Students of B.A. & B.Sc. (Hons.) in Economics shall appear their Hons. Papers with B.A. Hons. Students.

Students of B.A. & B.Sc. (Hons.) in Geography shall appear their Hons. Papers with B.Sc. Hons. Students.

The dates of this schedule may include future modifications/alternations to accommodate unavoidable exigencies, if any.

Place: Raja Rammohunpur Date: 21.05.2025 TA MAHAUIDYALAY YOR ONICOURT